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The percentage of times a page
number is found in the TLB is
known as

(A) Miss ratio

(B) Hit ratio

(C) Miss percent

(D) None of the mentioned

The time taken for the desired
sector to rotate to the disk head is
called .

(A) Positioning time

(B) Random access time

(C) Seek time

(D) Rotational latency

The set of tracks that are at one
arm position make up a

(A) Magnetic disks

(B) Electrical disks

(C) Assemblies

(D) Cylinders

The heads of the magnetic disk are
attached to a that moves
all the heads as a unit.

(A) Spindle

(B) Disk arm

(C) Track

(D) None of the mentioned

4,

Auadl H TH U AR Ao @

yferard & w7 H S o g

(A) 7 argum
(B) fee argum
(C) A9 yfderd
(D) g 1 Jcokd el febar 1

qifvd aeR T o g W OgA
A qTel T BT FEl ol g
(A) TSI 2TgH

(B) NsH TR <IgH

(C) THI B TolreT I

(D) i faeiae

qefAl BT g Sl U 81 Bl Reifd A
B e, U6 gl B

(A) 991 fow

(B) faga &

(C) faerrermati

(D) ffeis?

qeo 5 & @ W e
B & o e et @l vh g & WY
4 YA 2|

(A) 0

(B) & amM

©) 5P

(D) ®Ig 1 Icokd el fobar 1
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5. In  information is recorded
magnetically on platters.
(A) Magnetic disks
(B) Electrical disks
(C) Assemblies
(D) Cylinders

6. The data structure used for file
directory is called
(A) Mount table
(B) Hash table
(C) File table
(D) Process table

7. What is raw disk?
(A) Disk without life system
(B) Empty disk
(C) Disk lacking logical file
system
(D) Disk having file system
8. Whatwill happens when a process
closes the file?
(A) Per-process table entry is not
removed
(B) System wide entry’s open
count is decremented
(C) All of the mentioned
(D) None of the mentioned

5.

¥ g @ g9er WY 9wl
TR T fbar ST B |

(A) FI@r fewa

(B) fagm fewa

(C) faerrermati

(D) felex

WIS MR & fo Jgad SeT ERel
B FE TR

(A) AR <ad

(B) T <4

(C) WIgel ifera

(D) Yfshar arferdr

Fodl fp AT 87

(A) B Ried & 9 foww

(B) el few

C) @ # Tfde wra RRed @
3T &

(D) WIsal e drell fswh

T BN O B UhdT WIRA @l §9

R <Al 27

(A) Ufd— ufsnm arferdr ufafie @
T el ol ©

(B) Ried a1z U¢1 @l v @Ise
¥ B S §

(C) T4 JeetlRad

(D) ®1g 4 Seoig 7T fopar
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0. To create a new file application 9. UH A5 Blsa ADIE U™ 994 &

program calls forc @ Pl oxar B
(A) Basic file system (A) IRF Frsa Rved
(B) Logical file system (B) difbd Hrsal Rved
(C) File-organisation module (C) BIS—e Aiegdl
(D) None of the mentioned (D) PIs W Ioorkg 7S] fhaT T
10. Which table contains the 10. fbq i@l 4 & ARCE A &
information about each mounted IR H MR B dl 27
volume? (A) HRE ¢ad

(A) Mount table () Rreer-ame W s

(B) System-wide open —file table
(C) Ufa—ufohar Nu—hIsdl qfeta

(C) Per —process open —file table

(D) All of the mentioned (D) ¥ Secifid
11. A file control block contains the 11. TU® B3 dold &b § & IR H
information about . SR 8 € |
(A) File ownership (A) BIscl W@ifAd
(B) File permissions (B) WIsd a—jrqf%pﬁ
(C) Location of file contents (C) wIEd I BT A
(D) All of the mentioned D) W Seafaa

12.  In virtual memory.the programmer 12. El—fi?ﬂ?[ TR H 3Rl BT AR

of overlays. (A) @ A T 8

(A) Has to take care (B) &I G B MALAGAT Ll &

(C) T4 IeetlRad
(D) ®is N Scerd &l foam T

(B) Does not have to take care
(C) All of the mentioned

(D) None of the mentioned
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13.  Error handler codes, to handle 13. _g’f% 2SR DlS, M géa' Gl
unusual errors are Tl @ folg Z|
(A) Almost never executed (A) T BT (e T2l fdar T
(B) Executed very often (B) g7 IR Fremfed
(C) Executed periodically (C) THI—\HY R Fwrfed
(D) None of the mentioned (D) ®is N Scord &l foam T
14. The instruction being executed, 14, fofeq fear o1 @1 A #
must be in BT ARy |
(A) Physical memory (A) IRF Ty
B) Logical memor
(B) Log Y (B) drfbes wfer
(C) Physical & Logical memory
(C) it 3R arfds wfd
(D) None of the mentioned
(D) ®1E ¥ Seoid el far T
15.  Virtual memory allows . 15. aﬁ?ﬂﬂ TR il A d T 8
(A) Execution of a process that (A) TH Ulhar &T femes o W TE
may not be completely in J W § T8 2w 2
memo
Y (B) 9fie ¥ W BRI 89 arl
(B) A program to be smaller than
Epic
the physical memory
(C) AP~y RSl § g9 8 arell
(C) A program to larger be than
the secondary storage
(D) Execution of a process (D) Hiferd Fﬂﬁ # 9 T gt Eail
without being in physical yfshar &1 e
memory.
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16.  Process are classified into different ~ 16. Uibar & # faf= @@l o
groups in ffa form T 2
(A) Shortest job  scheduling (A) IR B W TR
algorithm B) Ee A @@@‘T TR
(B) Round robin  scheduling :
algorithm (©) et W WW
(C) Priority scheduling algorithm (D) w—q PR W CeiRer
(D) Multilevel queue scheduling
algorithm
17.  Which algorithm is defined in 17. <CIgH d9drucH ¥ foayg Q?ﬂﬁ% Gl
Time quantum? gRWIT foar a7 27
(A) Shortest job  scheduling (A) IR B W TR
algorithm B) e IfE WT iR
(B) Round robin  scheduling :
algorithm (©) et W WW
(C) Priority scheduling algorithm (D) w SR W G
(D) Multilevel queue scheduling
algorithm
18.  In Unix, which system call creates 18. qﬁrcm H, dF 91 RRed ofd =3 ufshan
the new process? T 2°
(A) Create (A) frue
(B) Fork (B) ®iel
(C) New ©)
(D) None of the mentioned
(D) g 1 Icokd el febar 1
19. What are the types of distributed 19. faaRa ifRfeT RRed & ToR @1 2°
operating systems? (A) O 3MeRd 3ffRfeT RiveH
(A) Zone based Operating System (B) R AR TR ReH
(B) I;evtel based  Operating ©) Sedd Ayl Ueed
stem
©) Nthork Operating System (D) Seciie
(D) All of the mentioned
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20. Network operating system runs 20. Hcdd ITRET Ried W
om_____. oM B |
in th k vt § R
(A) Every system in the netwo (A) ¥ =
(B) Server e
(C) Both server and every system (B)
in the network (C) T ¥R R Tead § & River
(D) None of the mentioned (D) Prg Al Soord el f&ar T
21.  Which principle states that 21. &9 91 figld dsa1 3 & M,
programs, users and even the SYINTHAT IR Ie dd o Reeq @
systems be given just enough I PR W @ fv wE
privileges to perform their task? RemRIer R e
A) Principle of least privilege :
) P (A) @4 94 B [ATieR o1 Rigid
(B) Principle of process _
. (B) Wfshar fuiRer &1 Rigia
scheduling
(C) Principle of operating system (C) STICT ReH BT Rigle
(D) None of the mentioned (D) @IS 41 Seorg &l ooy
22. 1In SCSI disks used in high end 22. 3=d 3fd O/l # ygaa voiowens feva
PCs, the controller maintains a list ¥ e o w® A Wﬁ
of on the disk. The disk is ~
T . . Edl 8| % B WA B
initialized during formatting -
which sets asidespare sectors not R gRmEeTes fbar S &
visible to the operating system. JTRfeT Reeq @ fowg =8l <9 ara
(A) Destroyed blocks, EIIN Sy B el e S D
partitioning .
(B) Bad blocks, low level (A) T il faer
formatting (B) TRME ik, [ TR w&HUl
(C) Destroyed blocks, high level (C) T i, Tod TR I
formatting (D) TRE i, [qTe
(D) Bad blocks, partitioning ’
Series-C B.Sc.— B180201T/ K-263 Page - 8



23. The __ program initializes all  23. _FﬁTITF[ Ren & i tl%q@ﬁ Al
aspects of the system, from CPU ART IRl T, @Tﬂ?{\ AR A IR
registers to device controllers and fSaTed HIoR AR 1= TR @ A
the contents of main memory, and % , AR R ffRiT Red P dxdl
then starts the operating system. gl
(A) Bootstrap (A) W
(B) Main (B) 9=
(C) Bootloader ©) W
(D) ROM (D) W

24.  The two steps operating system  24.  3IRET RReH U Bigall & W& &
takes to use a disk to hold its flies fou fowp &1 SN o= & foru o
are and Heq IO & 3R
A) Caching & logical formatting :

EB; Logica;g formitting & swap * AR e A :
. (B) dIfbd w0 3R WU 3faRe
Space creation
(C) Swap space creation & feon
caching (©) T T TR SR BT
(D) Partitoning & logical (D) faTe &R dfdhes Tawaor
formatting

25.  Whenever a process needs /0 to  25. o9 W f&=ft ufohan &1 fovw & o1 Soab
or from a disk it issues a foTT 1/0 @ JgwIdhdr Bl & o I8 Uh
(A) System call to the operating T T 2

System (A) SRR Rieed @1 River @t
(B) A special procedure
(B) U& fauIy ufshar
(C) System call to the CPU §
(D) All of the mentioned © W I e @i
(D) |l Seeifad
Series-C B.Sc.— B180201T/ K-263 Page - 9



26. On systems where there are 26. RieH W W&l &3 RRET Rred g
multiple operating system, the R Oy @ e F F] O
decision to load a particular one is ERT RpaT o
done by . . v

- (A) Wlshar a0 <l
(A) Process control block _ y
(B) Wi [ i
(B) File control block
(C) Boot loader ©
(D) Bootstrap (D) iﬁlﬁi

27.  To recover from failures in the 27. ¥cad Wdld ¥ fAwadel I S &
network operations foru SFBR Bl F1T IGT o
information may be maintained. Fhdl ¢ |
(A) Operating system (A) ST Req
(B) Ip address (B) SR

1
(C) Stateless ©) ey
(D) State
(D) XIg

28. The operating system the 28. IR Ried ReH Cl
links when traversing directory TASfdeId R @ IR R B
trees, to preserve the acyclic 17 SRRae) & oo i}aﬁ RS T

fth tem. :
structure of the system i 3
(A) Deletes
. (A) Ferl &
(B) Considers
(B) HMAT ®
(C) Ignores
(D) None of the mentioned (C) 3T e §
(D) ®IE ¥ Seoid el fdar T
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29. What will happen in the single 29. Ridl oladl SRRGEY H 9T BFTY
level directory? A) i PEel Th & PR
(A) All files are contained in the _
same directory wIfed &
(B) All files are contained in (B) W Wigel & & ®WR W A=
different directories all at the Bt i A
same level
(C) Depends on the operating (C) SHTICT Rived W PR e
system (D) o5 W Joorg TEI foam T
(D) None of the mentioned
30. The operating system keeps a  30. 3ifRfET RieA U6 B W <dd ar
small table containing information g o 9 gell wedl @ aR A
about all open files called SR Bl & o gl o @
(A) File table (A) W1 difere
(B) Directory table (B) 3R drferer
(C) Open-file table ©) A—Tge 2qe
(D) System table (D) Rred T
31.  The information about all files is  31. 99 ®Egal & IWeN  H @
keptin Sl 2
(A) Operating system (A) TR Reeq
E]é; :\ejatrast;ci:‘ectory structure (B) e RRRPT T
(D) None of the mentioned © w0 ¥ _
(D) ®1E ¥ Seoid el fdar T
32.  If the sum of the working-set sizes 32. A M F BT IN— UC ABR dedl
increases, exceeding the total 2 9Ude WA @l Bl G 3
number of available frames e
(A) The operattmg systzm selects A) 4 A R ! SN
a process to suspen
(B) The system crashes ferg oo P BT T B &
(C) Then the process crashes (B) Red R
(D) The memory overflows (C) 9 wishar e B Sl &
(D) AN 3aRUT & Sl @
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33.  What are the characteristics of 33. & IMIRT AMESId @I faRIwa @
stack based IDS? 27
(A) It is programmed to interpret (A) = et B ve FREd siEer @
a certain series of packets R T S
(B) It models the normal usage of
i
the network as a noise _
. (B) ¥ IR I 9V & ®Y H "D
characterization
(C) They are integrated closely WA ST B AST FRA §
with the TCP/IP stack and (€) 9 /A W AR Hel
watch packets Udbe & A1 Ndpear 9 erg\lrpcl g
(D) The host operating system (D) 8Re JifmfeT Rmen  sfffse
logs in the audit information TR o ST Prar 2
34.  Which of the following is system  34. f=foRad § 9 ®F 1 Rived AT
software? 2?
(A) Operating system (A) AR Ry
(B) Compiler (B) ®UBR
(C) Utilities (C) STNfa
(D) All of the above (D) R & T
35.  Which command is used to fetch a ~ 35. f&d FHS & IWN & T (doc
group (.doc of files that have just Bigell @ & 3Rf— onft ger fear mar
been deleted)?
) 2) M & forv foar s 27
(A) Undelete
(A) el
(B) Undelete/ all
(B) 3MfSelle /<
(C) Undelete* .doc
%
(D) All of above (€) SFieflc * .doc
(D) R &
Series-C B.Sc.— B180201T/ K-263 Page - 12



36.  Which of the following software is ~ 36. RI%cH WTCdIR & IYIN Bl W a9
used to simplify using of system o fou ffoRad & 9 f6d dfted®
software? BT ST fhar rar &?

(A) Time sharing (A) I W= PRAT
(B) Multi-tasking (B) Heel — CIRBT
(C) Operating environment (C) SRS ardraRoy
(D) Spreadsheet (D) wrsie

37.  Operating system is a collection of 37.  QIRfET RieA &1 U6 IUE &
(A) Software routines (A) HTESRR WM
(B) Input-output devices (B) $Yc—3MScye fSarsw
(C) Hardware components (C) TERR U<H
(D) All of these (D) A T

38. What type of commands are 38. S # fafi= @R @ &1 @ forv fow
required to perform various tasks YN B HHIES Dl ATGIThdl 2idl &7
in DOS? (A) ARSIy
Eg; ;ntternallcommand; B) T e

xternal commands
(C) Valuable commands (©) T e
(D) Primary commands (D) D A
39.  Which windows was introduced to 39. HT:f PRI ¥ oF W fder U @ Trfgi
My Computer? or?
(A) Windows 10 (A) fd=Iet 10
(B) Windows XP (B) foersT veaq)
(C) Windows 95 ) e 95
(D) Windows 98 (D) fIereT 98
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40.  Which of the following operating ~ 40. Fclgc—qR "cdd & fov My = #
systems do you use for a client- I g SRS RReq &1 ST oxd
server network? 27
(A) MAC (A) %

(B) Linux (B) forrad
(C) Windows XP ) e T
(D) Windows 2000 (D) eI 2000

41.  Which of the following is group 41. f=folRed & & &9 — a1 Y™ @
of programs? TE 87
(A) Accessories (A) TR
(B) Paint (B) e
(C) Word €) IR
(D) All of above (D) TR &

42.  What is Microsoft window? 42. HrshNTe fder @ 87
(A) Operating system (A) SiRfET Riwen
(B) Graphics program (B) Withasd BrIHY
(C) Word processing (C) TS MRARAT
(D) Database program (D) ST TR

43.  Which of the following does not  43. fA=fiRgd § ¥ ®F a1 @I UfhAT BT
interrupt the running process? AT a1 IRl &7
(A) Timer interrupt (A) CIEW IRE
(B) Device (B) fea=w
(C) Power failure (C) fooieh &) faweran
(D) Scheduler process (D) SFES WiF
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44.  Who among the following can 44. fHfafed & ¥ @9 (7 o9 @
block the running process? <idh TR AGdT 8°
(A) Fork (A) Td BIel
(B) Read (B) Ugl
(C) Down (C) Sred
(D) All of these (D) 91 99
45.  Where are placed the list of  45. e 3R udem & I TR B S
processes that are prepared to be e ulharet @ w Het W) oy 27
executed and waiting?
(A) Job queue g ) Al
(B) Ready queue (B) TR BN
(C) Execution queue (C) MW $aR
(D) Process queue (D) I HAR
46. Who provides the interface to  46. JIRET Rieqd o WaRN a6 qg?ﬁ E2
access the services of the operating foTT $eX®Y P I HxaT 27
system? A) e
(A) API B) R
(B) System call
(C) Library © el
(D) Assembly instruction (D) faerTerst frrea
47.  Which of the following is a 47. f=felRed § ¥ o9 A Rofa TiRw
condition that causes deadlock? ®I PR §9d7 &7
(A) Mutual exclusion (A) 3ol SRR
(B) Hold and wait (B) P 3R Ter
(C) Circular wait (C) URTS wer
(D) All of these (D) &7 W@
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48.  Which of the following operating ~ 48. fA=forRad § & @9 A1 TRfET ReH
systems does not support more Th G e Th Y 3Ifd YU @ qae
than one program at a time? T R ¥
(A) Linux

(A) forTa
(B) Windows _

(B) fdera
(C) MAC

©) P
(D) DOS

(D) sM

49.  Which of the following windows  49. f=ferRaq & & fow fier § wé 9e4
does not have a start button? T8 gy 27
(A) Windows7 (A) S 7
B) Windows 8 .

(B) ®) fie s
(C) Windows XP _

(C) fderst vl
(D) None of these

(D) T 9§ I3 TaI

50. Which of the following supports  50. 4= ¥ ¥ & fdert 64 fae @1 9uIe
Windows 64 bit? Par 27
(A) Window XP ( A) ﬁ@'}[ Q_CR:I'C?[

B) Window 2000 .
®) (B) fd=T 2000
(C) Window 1998 _
(C) fd=r 1998
(D) None of these
(D) T 9§ I3 TaI
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51. Which of the following is not 51. 49 # ¥ ®F W Telew™ TR

application software? Tl 2?

(A) Windows 7 (A) fiem 7
(B) WordPad (B) deUs
(C) Photoshop (C) NI

(D) MS-excel (D) THCH- S

52. If a page number is not found in ~ 52. IS JATATE P¥gS dhR 3 U v

the translation lookaside buffer, TS Al & a1 59 Th & w7 H oM

then it is known as a?
ST 87
(A) Translation Lookaside Buffer

(A) IIdE JHarEs I A

miss

(B) Buffer miss (B) Iwx ¥

(C) Translation Lookaside Buffer (C) IdIE JHdgs TN fec
hit (D) Sl W

(D) All of the mentioned

53.  The size of virtual memory is 53. aﬁ?ﬂ?[ TR BT R = #§ 9 fed

based on which of the following? R TR 2T 27
(A) CPU (A) W

(B) RAM B) ¥

(C) Address bus ©) wH T
(D) Data bus D) ¥ T
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54.  Which of the following is a single-  54. fy=fofad & ¥ &9 Thd—SUINTHAT
user operating system? MRS Reeq 27
(A) Windows (A) Bl
B) MAC
(B) ®)
(C) Ms-Dos y
(C) THH- S
(D) None of these
(D) T ¥ BIg el
55. If the page size increases, the 55. 9fe UG @l PR dodl g, 3MaIR®
internal fragmentation is also?....? fRgeT ) gar 22,2
(A) Decreases (A) 3
(B) Increases
(B) el &
(C) Remains constant
(C) ReR T ?
(D) None of these
(D) T ¥ BIg el
56.  What is the fence register used 56. dls Yoy fodd foru TN fohar T
for? 27
(A) To disk protection ) R e & B
(B) To CPU protection
(B) WU GRem & forg
(C) To memory protection
(©) e @ ferg
(D) None of these
(D) T ¥ BIg el
Series-C B.Sc.— B180201T/ K-263 Page - 18



57.  What is bootstrapping called? 57. qg?ﬁ T fr FEd 27

(A) Cold boot (A) ®lce
(B) Cold hot boot (B) o1 T <
(C) Cold hot strap (C) der T UET
(D) Hot boot (D) T T

58.  What is the full name of the IDL? 58.  3TSSINd & QX1 M T 87
(A) Interface definition language (A) EE'\’W qRHTST 79T
(B) Interface direct language (B) 3w el W

(C) Interface data library
(D) None of these

(C) 3N ST aTSs

(D) T ¥ PIE Tl
59.  What is the full name of the DSM? ~ 59.  SITHUH & IXT M &7 &°
(A) Direct system module (A) SRRTC RieA BIRURH
(B) Direct system memory (B) TNde Rred 39R)
(C) Demoralized system memory (C) Demoralized RieH FARG
(D) Distributed shared memory (D) faRa =T Fcﬁ
60. Which is the Linux operating 60. foriaw oifRfeT Rived dF w1 87
system? (A) el ST Rved

(A) Private operating system

(B) Windows operating (B) fdera sifuefeT fRwen
(C) Open-source operating (C) TR STRST RiveH

system (D) T q Pl ol
(D) None of these

61. When you delete a file in your  61. S 39 31 PRI 4 ®Ig B3 T

computer, where does it go? & d I8 el ol 27
(A) Recycle bin (A) IEH fo
(B) Hard disk (B) EISfS%®

(C) Taskbar (C) CRPIR

(D) None of these (D) T | By el
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62.  Banker’s algorithm is used ? 62. S TANRAH BT TANT fhar ST 87
(A) To prevent deadlock (A) TR @F A & forg
(B) To deadlock recovery (B) TR a9ell & fory
(C) To solve the deadlock (C) TR &1 R XA B forw
(D) None of these (D) ST 9§ DS TS
63.  When does page fault occur? 63. UGl Hice B9 BT &7
(A) The page 1is present in (A) TS T ¥ e ¥
memory
(B) The deadlock occurs (B) TR B & |
(C) The page does not present in ©) USl WANT H ‘ﬁ\_rjﬁ Tl g
memory (D) THRT B 2|
(D) The buffering occurs
64.  What is the mean of the Booting in ~ 64.  3TRfeT Rreq # EL%T I R Hdld
the operating system? 7
(A) Restarting computer (A) dIX Al JIRRAT dXAT
(B) Install the program (B) HIIHA RNT B
(C) To scan (C) T &= & forg
(D) To turn off (D) dg BT
65.  BIOS is used? 65.  BIOS @1 IUAN o1 Sl &7
(A) By operating system (A) SITRFET Rived gw
(B) By compiler (B) Hdhcld gRI
(C) By interpreter (C) gﬂTfﬁ?JT R
(D) By application software (D) TSI WUICRR gRT
66.  What is the full name of FAT? 66. FAT &I W A &I &7
(A) File attribute table (A) WTgal faerar drfera
(B) File allocation table (B) Igcl afrde difere
(C) Font attribute table ©) wie RSl i
(D) Format allocation table e ST T
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67. What else i1s a command
interpreter called?
(A) Prompt
(B) Kernel
(C) Shell
(D) Command
68.  Which of the following is the
extension of Notepad?
(A) .txt
(B) xls
(C) .ppt
(D) .bmp

69. What is the maximum length of
the filename in DOS?
(A) 4
(B) 5
€) 8
(D) 12

70.  Which of the following is not an
operating system?
(A) Windows
(B) Linux
(C) Oracle
(D) DOS

67.

70.

HHIS AT B R FT G521 T 27
(A) dfen
(B) ridl
(C)
(D) 3=t

frefoed # & @9 Al & xR
&7

(A) Cawed

(B) UaUaIH

(C) G

(D) e

S ¥ wigd T @) SfGaE g @l
&7

(A) 4

(B) 5

(C) 8

(D) 12

e 4 9 o T SfRicT Rred e
&7

A) fder

(B) feraw

(C) 3R

(D) SN
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71.  What are the characteristics of 71. @Rc 3mRd 311%@@ Dl ﬁ‘?lﬁ?ﬂ? T
Host based IDS? 27
(A) Logs are analyzed to detect (A) W & 9% @ Ul RUIGE)
tails of intrusion 10 ST BT TR R o 2
(B) The .host ope.ra.tmg syétem ®B) B
logs in the audit information .
(C) Logs includes logins, file fereen @i el &
opens, and program (C) A i, Bree Wi K
executions T e et 8
(D) All of the mentioned (D) |l Seeifad
72.  The priority of a process will — 72. Ud Ufhar & UMW 0 &Ll
_ if the scheduler assigns it a gfe nLieEd ™ e Rer wafedr
static priority. UeTT T 2|
(A) Depends on the operating (A) ST Rieed e S el 3
system
(B) Change ®) o
(C) Remain unchanged © e &
(D) None of the mentioned (D) % A1 SRy T faar T
73.  Which one of the following is a 73. f=fafag & § o= Th CIgH
real time operating system? STRfET Rved 27
(A) Window CE (A) fiew o%
(B) RTLinux (B) SREIeTTa
(C) Vx Works ©) A
(D) All of the mentioned D) R
74.  For real time operating systems, 74, A <qH AT e o forg,
interrupt  latency  should be SR ol B a1l
o (A) ¥
ero
(B) Minimal (B) e
(C) Maximum © H@W
(D) Dependent on the scheduling (D) T FrR
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75. Hard real time operating system  75. &S RId <gH MRfET Req # dfve
has  jitter than a soft real RIel ered SRS RieeH @ gorm o
time operating system. ORI 2l 2
(A) Equal (A) IR
(B) More (B) I
(C) Less C) T
(D) None of the mentioned (D) I @ SeorE T far
76. In real time operating system  76. Id <rEH T Ried ¥ L
_ (A) UhTT GHIdgT dad Ud dR
(A) Process scheduling can done frT T T 3
N Z‘Lly T B) T s @ e W
processes have the same
priority el &
(C) Kernel is not required © Pt P AT T &
(D) A task must be serviced by its (D) o=l BT BT IS R A
deadline period u ERURSIGIRCIN
77. The presents a uniform 7. 1/0O HIRved & fou e 99m
device-access interface to the I/O fSarga — T gevod IRV EEAG] J
subsystem, much as system calls R Ried @fd tfedee ok
provide a standard interface S Ber b e v s
between the application and the _
_ $CXBY UG BRaT © |
operating system .
(A) Device drivers (A) o e
(B) T/O systems (B) VO R
(C) Devices (C) UM
(D) Buses (D) T4
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78.  The operating system maintains a  78.  3IRfST ReH - EAREERI]
table that keeps track of g Ol 86 oxal © b b %o armdfed
how many frames have been fpv U ¥ fray € R fray Sy
allocated, how many are there, and 3
how many are available. A) T
(A) Memory
(B) mapping ®)
(C) Page (©) k&
(D) Frame (D) wH
79. Using transient code, = the 79.  &fvre BIe BT ST FR gy, BIDIE
size of the operating system during e @ SR RfeT R @1
program execution. PR |
(A) Maintains (A) T s
(B) Changes ®B) N
(C) Increases
(D) Decreases (©) e &
(D) Hedl &
80. The operating system 1s 80. T RiveH fva fory RreR &7
responsible for? (A) TRE-I® RN
(A) Bed-block recovery (B) @ A EL%T
(B) Booting from disk (©) o e
(C) Disk 1n1t1ahzat1.on O & S
(D) All of the mentioned
81. The main memory accommodates 8l. H™ AR o T
. Bl & |
(A) CPU (A) W
(B) User processes (B) STRTeat kT
(C) Operating system .
(D) All of the mentioned © SlIeT e
(D) o ScollRad
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82. Swapping  be done whena  82. wWftft T4 9 M Ay e
process has pending I/O, or has to fl ufbar # YO <ffd &1, a1 dad
execute I/O operations only into TRfeT Red svd & /O TdTeH
operating system buffers. fwrfed o 2|
(A) Must never (A) & e BT =R
(B) Maybe (B) T
(€) Can (C) TR GH &

(D) Must D) W

83. A deadlock avoidance algorithm 83. U&h TfeRe AR Qﬁﬂﬁ%‘:{ Tferefier wu
dynamically examines the S 2 G O 1
to ensure that a circular wait ﬁﬁﬁ?m foar o1 9o f& e uRux
condition can never exist. gderr Rerfa a) l:ﬁvj\-c{ TE1 B Ghdl 2|
(A) Operating system (A) SiRfET Riwen
(B) Resources (B) WA
(C) System storage state (C) RReH Herur o7
(D) Resource allocation state (D) G e oy

84.  For an effective operating system, 84. TH yrdT SfmfET Rem @ form,
when to check for deadlock? TR & 5T g H9?

(A) Every time a resource request _
is made at fixed time (4) & R T flRew e G
intervals W e Bﬂ_ﬁu fera S &

(B) At fixed time intervals (B) ff¥@a 9wy 3faRTel W

(C) Every time a resource request (C) T IR A SR BT T R
1s made _

(D) None of the mentioned (D) @ 1 St el fat 7
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85.  The FCFS algorithm is particularly ~ 85. FCFS UemRem & fou faow
troublesome for Y W IR T 2 |
(A) Operating systems (A) AfRfeT Rvew
(B) Multiprocessor systems (B) TR e
(C) Time sharing systems (C) <cIsH IR ReH
(D) Multiprogramming systems (D) AT RieA
86. The portion of the process 86. TP JATRfET Rived # W Eﬁ?ﬂlﬂ? Eal
scheduler in an operating system I8 fewr o U9 @ fe’g oxar €
that  dispatches processes is - I w3
concerned with (A) TET TR Yo ot @
(A) Assigning ready processes to
. SIfTETT XAl
wailting queue _ _
(B) Assigning running processes (B) dIvg DI W @
to blocked queue Pl SR D
(C) Assigning ready processes to (C) ¥ % DT XS AR ST
CPU Cagll
(D) All of the mentioned (D) 41 JcetlRad
87.  Transient operating system code is 87. &ford SfRfET Rew @ & @I &
acodethat i} -
(A) Stays in the memory always (A) T IIC H &l 8
(B) Never enters the memory (B) @ Wl HARI W H YA R
space GG
(C) Comes and goes as needed (C) MITIGARIR el 3R T &
(D) Is not easily accessible (D) ST ¥ ST ToI 2
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88. When a process is in a “Blocked”  88. W@ dIg WihaT "srawg” Rafd & 8xfl &
state waiting for some I/O service. il o5 1/0 AT B YT B @l Bl
When the service is completed , it g od Cj\'\ﬁ g Wil g ol I
goestothe BT I B |
(A) Terminated state (A) GHIT IST
(B) Suspended state (B) fdifed =g
(C) Running state (C) T ®e
(D) Ready state (D) TR I

89. In a timeshare operating system, 89. TP TISHIRK IMWET Red # o9 &
when the time slot assigned to a fchar &1 |igT T W Tl GO
process is completed, the process ST 2 ufhar aduH Rafa § 9ed
switches from the current state to? STl 27
(A) Suspended state (A) ffsd oy
(B) Terminated state (B) I I
(C) Ready state (©) IR 5
(D) Blocked state (D) g I

90. In operating system, each process  90. JIfRfET RRed & IS Ufhar &r 0=
has its own 2l &

(A) Open files (A) Eﬁﬁ wIgel
(B) Pending alarms, signals, and B) o, Ree, ok Ry
signal handlers
TSR
(C) Address space and global
variables (C) T weim IR APaw T
(D) All of the mentioned (D) w1 Sl
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91.  Which one of the following is not 91. fr=fofag & ¥ &= Th CIgH
a real time operating system? TR Ryeeq 781 27
(A) RTLinux (A) IS
(B) Palm OS (B) WM g
©) QNX (C) TR
(D) VxWorks (D) Cilyesteret
92. If a process fails, most operating ~ 92. I H ¥k fAva & WIH g, @
system write the error information APHE  ARET  RreH —arf% G2l
toa_ TR Pl forE
(A) New file (A) S B
(B) Another running process (B) o T T Ul
C) Log file o
ED; Noie of the mentioned (©) e PR
(D) ®1E ¥ Seoid el fdar T
93. Where is the operating system  93. JifRfST Ried @ ¥9K ¥ Fal @
placed in memory? SITeT 27
(A) Either low or high memory (A) T a oH T 9= TER ( Fexe
(depending on the location of TR B W B AR w)
interrupt vector) B) e
(B) In the low memory _
(C) In the high memory ©) s AN A
(D) None of the mentioned (D) % A1 Serg T faar T
94.  Which one of the following errors ~ 94. f=faiad & & a9 @ Ffe sifmfn
will be handle by the operating RREH ERT S @) Y
system?
(A) Lack of paper in printer (A) T A el A
(B) Connection failure in the (B) Wcad # $q &l fawerdl
network ©) o & Rwerar
(C) Power failure
(D) All of the mentioned (D) ¥ Seeiid
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95.  Which one of the following is not ~ 95. f=foRad § & @19 A1 W 78I &7
true? (A) T R R FI B IR
A) Kernel i i th :
(A) Kerne rem.ams in .e Y 3 vEa
memory during the entire g N e
computer session (B) 3 o
(B) Kernel is made of various oy SffRfET Rivew e 7 <
modules which can not be Te} fbar & Foar 2|
loaded in running operating (©) T STRRET Red @7 UgaT
t : :
system: A B S ST & IR WER A
(C) Kernel is the first part of the
operating system to load into @S Bl & |
memory during booting (D) @ & UM B S S
(D) Kernel is the program that ey @& &<l BN P T
constitutes the central core of BT 2|
the operating system
96. CPU scheduling is the basis of  96. CPU ¥ggfell BT 3R T
— (A) ATl — AR SffRfET RiweA
(A) Multi-programming operating
systems (B) E@ AR RV RiveH
(B) Larger memory sized systems (C) WecHRRR RieA
(C) Multiprocessor systems D) SR e o e T
(D) None of the mentioned
97. To access the services of the 97. SiRfET Rew @l JawEl @ qg?ﬁ @
operating system, the interface is forg, gexmd gRT Jer fdar
provided by the ST B |
(A) Library (A) Td THIDIeTY
(B) System calls (B) R ofd
(C) Assembly instructions (C) faemersr fercer
(D) API (D) TdRIg
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98. In Operating Systems, which of 98. 3fRfeT Rien # fm=fafRed & 9
the  following is/are = CPU HH-11 /9 CPU gﬁ@qﬁw TANINEH
scheduling algorithms? 2/

(A) Priority (A) Tt
B) Round Robin L
® : (B) WS Wfe
(C) Shortest Job First o .
(D) All of the mentioned ©
(D) |l Seeifad
99.  What is the main function of the ~ 99. HHIS JHINAT B F& BRI HT §?
command interpreter? (A) T3NS 3R VA I URH & 9
(A) To provide the interface STRB YT T B forT
between  the  APLand (B) SifmfcT Red # wigell @ ged
application program o B fre

(B) To handle the files in the .

. (C) 3TFTel SYArTHhal g ffde amey

operating system

(C) To get and execute the next T B SR SECAEY
user-specified command ferg

(D) None of the mentioned (D) Prg ¥l Seor@ el f&ar T

100. What is an operating system? 100. U 3fRfET Rew | 2°

(A) Interface between the (A) BSRR 3R o™ UM &
hardware and application i e
rograms : : :
prog (B) BSRR WNRFI B ¥EeH  dxA
(B) Collection of programs that _ _
arel Al F |UE
manages hardware resources
C) e wfdd AERsR ¢
(C) System service provider to © °
the application programs elDR I
(D) All of the mentioned (D) 4T Seeilgd
Kdhkkhx
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